Conditional Statements Practice
Geometry
A: Write in If…then form, identify the hypothesis (p) and conclusion (q).
B: Write the converse.



C: Write the inverse.

D: Write the contrapositive.

E:  Determine the truth value of each statement.
1.  A square is a quadrilateral.  










        ___
     A:  __________________________________________________________________________________________________   ___

     B:  __________________________________________________________________________________________________   ___

     C:  __________________________________________________________________________________________________   ___

     D:  __________________________________________________________________________________________________   ___

2. If you grew up in Alaska, then you’ve seen snow.







        ___
     B:  __________________________________________________________________________________________________   ___

     C:  __________________________________________________________________________________________________   ___

     D:  __________________________________________________________________________________________________   ___

3.  If two angles have the same measure, then they are congruent.






        ___
     B:  __________________________________________________________________________________________________   ___

     C:  __________________________________________________________________________________________________   ___

     D:  __________________________________________________________________________________________________   ___

4.  If you live in San Francisco, then you live in California.







        ___
     B:  __________________________________________________________________________________________________   ___

     C:  __________________________________________________________________________________________________   ___

     D:  __________________________________________________________________________________________________   ___

5.  If two angles form a linear pair, then they are supplementary.






        ___
     B:  __________________________________________________________________________________________________   ___

     C:  __________________________________________________________________________________________________   ___

     D:  __________________________________________________________________________________________________   ___

6.  It two angles are not vertical angles, then they are not congruent.






        ___
     B:  __________________________________________________________________________________________________   ___

     C:  __________________________________________________________________________________________________   ___

     D:  __________________________________________________________________________________________________   ___

7.  Math teachers love to solve problems.









        ___
     A:  __________________________________________________________________________________________________   ___

     B:  __________________________________________________________________________________________________   ___

     C:  __________________________________________________________________________________________________   ___

     D:  __________________________________________________________________________________________________   ___

Part 2:
Determine the truth value of the following statement for each set of conditions.

8.  If you are over 67  years old, then you can collect full social security benefits.

A.  You are 68 years old and you collect full benefits.


_____


B.  You are 71 years old and do not collect full benefits.

_____


C.  You are 62 years old and do not collect full benefits.

_____


D.  Your grandfather is 70 years old and does not collect full benefits.
_____

9. If you are tardy 3 or more times to class, then you will have a consequence.

A. You are tardy 4 times, and you received a consequence.

_____
B.  You are tardy twice, and you did not receive a consequence.
_____

C.  You are tardy 3 times, and you did not receive a consequence.
_____
